L’ Arrondissement (D)
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74 450
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Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

9589

9346

99 034

45573

45 843

915 802

680333

2182753
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L’ Arrondissement (D) Solutions

1 874
2000

7532
8 000

9544
10000

74 450
74 000

75484
75 000

799 947
800 000

855041
855 000

830 820
831000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

9571 2450 9589

10 000 2000 10000
9163 7301 9346
9000 7000 9000

4 825 44729 99 034
5000 45 000 99 000
59833 55004 45573
60 000 55000 46 000
69795 61675 45 843
70 000 62 000 46 000
930963 370095 915 802
931000 370 000 916 000
194 308 905 658 680333
194 000 906 000 680 000
270 662 5699707 2182753
271 000 5700000 2183000
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